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you like

You can change the answers to your questions

You will see how many questions you have attempted, answered and skipped on
the right side

Question 1
For what values of k does the quadratic equation 4x2 - 12x - k= 0 have no real roots?

SOLUTION:

We have been given the quadratic equation:

422 — 122 — k=0

To have no real roots means discriminant should be less than zero.
D =b% — 4ac

b> —4dac< 0

Plugging the values in the formula of discriminant

(—12)2 —4(4) (k) <0

144 + 16k < 0

k<-9
Therefore, for k<-9 the quadratic equation will have no real roots.



Question 2
Find the distance between the points (g, b) and (-a, -b).

SOLUTION:
Using distance formula:
d= \/(932 —1)’ + (y2 —11)”

Here, z; =a, y; =b, 2y = —a and y, = —b
On substituting the values in the formula we get

\/(—a — @)= (== )

= \/(—2a)2 + (—2b)?

= v/4ad® + 4

—WETF

Therefore, the distance between (a, b) and (—a,—b) is 24/ (a)® + (b)?

Question 3

Find a rational number between /2 and /7.
OR
Write the number of zeroes in the end of a number whose prime factorization is 2% x 5% x 32 x 17.

SOLUTION:

We know
V2=1.414

VT =1.732
So, rational number between /2 and +/7 will be 1.5 = %

OR

Given prime factorisation is 22 x 5% x 32 x 17.
A number will have zero at the end when we have 2 x 5.

In 22 x 5% x 32 x 17 we will have 2 zeroes as (22 s 52) x5 x3%2x17.



Question 4
Let A ABC ~ A DEF and their areas be respectively, 64 cm? and 121 cm?. If EF = 15-4 cm, find BC.

SOLUTION:

Given: A ABC ~ A DEF
We know ratio of the areas of two similar triangles is equal to the square of the ratio of their corresponding sides.
arAABC __ ( BC ) 2

arADEF =~ \ EF

- 2 = (B
= (&)= 32y
>S5 -E

=BC=234 =112 cm

Thus, BC=11.2cm.

Question 5

Evaluate:
tan 65°
cot 25°
OR

Express (sin 67° + cos 75°) in terms of trigonometric ratios of the angle between 0° and 45°.

SOLUTION:

tan 65°

cot 25°

_ tan(90°-257) : -
SR ( F tan (90 = 0) — C0t0)
__-. cot25°

T cot25°

=1

OR

(sin67" +cos757)
= (sin(90° —237) +cos(90° —257)) (-." sin(90° — @) = cosf and cos (90" — @) =sinf )
= (cos23” +sin257)



Question 6
Find the number of terms in the A.P. : 18, 15%, 13,...,—47.

SOLUTION:

We have been given an A.P
18,153,13,...—47

Here,a = 18,d = 15% —18 = —_;—’,an = —47
We will find nusing

a, =a+(n—1)d

Plugging the values in the formula we get:

A =d8-LR=T1) (—7)

~AT=18— _mrt>3

n =27
Therefore,there are 27 terms in an A.P

Question 7
A bag contains 15 balls, out of which some are white and the others are black. If the

probability of drawing a black ball at random from the bag is 2 , then find how many
white balls are there in the bag.

SOLUTION:

Total number of balls 15
2

Probability of drawing a black ball at random is 5

probability of black ball + probability of white ball = 1
Probability of white ball = 1- probability of black ball

Probability of drawing a white ball =1 — —g—
Therefore, number of white balls = 15 x %

Question 8
A card is drawn at random from a pack of 52 playing cards. Find the probability of
drawing a card which is neither a spade nor a king.

SOLUTION:

We have total number of cards 52

And in deck of 52 cards number of spade are 13

And number of king = 4

But, out of these 4 kings, 1 king is already included in 13 spades card.
So, we will remove all the spade and king that is 52 - (13+3) =36



Therefore, probability of neither a spade nor a king is % =—

Question 9

Find the solution of the pair of equation :

sHy="L :-3=22,y #0

OR
kx+2y=3

3z + 6y = 10

Find the value(s) of k for which the pair of equations { has a

unique solution.

SOLUTION:

The given equations are

348= L (1)
S

e e (2)

Let+ =u and 3—11 — v
(1) and (2) will become
ut8y=-1 = . (3)

U—2W=2 e (4)

Multiply (4) with 4

u—8=8 ... (5)
Adding (3) and (5) we get

w="T

= k=1

Putting this value in (4)

1—2v=2



OR

The given equations are

kx +2y=3

3z +6y=10

For a unique solution,

ay b]

w7 h

wherea; =k, a; =3, b, =2, b =6

k £ 2

3 6

= k£1

For all values of kexcept 1, the given linear equations will have unique solution.
Question 10
How many multiples of 4 lie between 10 and 205 ?

OR
Determine the A.P. whose third term is 16 and 7t term exceeds the 5" by 12.

SOLUTION:

We need to find the number of multiples of 4 between 10 and 205.
So, multiples of 4 gives the sequence 12, 16, ..., 204

a=12,d=4and a, = 204

Using the formula e, =a+ (n—1)d
Plugging values in the formula we get
204=12+(n—1)4
204=12+4n—-4

4n =196

n =49
Thus, there are 49 multiples of 4 between 10 and 205.

OR

Given: 3rd term of the AP is 16.
as =16



a+(3-1)d=16

a+2d=16 .. (1)
Also, 7th term exceeds the 5th term by 12.

ar—as =12
[a+ (7 - 1)d] - [a + (5 - 1)d] = 12
(a+6d) - (a+4d) = 12

2d = 12

d=6

From equation (1), we obtain

a+2(6)=16
a+12=16
a=4

Therefore, A.P. will be 4, 10, 16, 22, ...

Question 11
Use Euclid’s division algorithm to find the HCF of 255 and 867.

SOLUTION:

The given numbers are 255 and 867.

Now 867 > 255. So, on applying Euclid's algorithm we get

867 = 255 x 3+ 102

Now the remainder is not 0 so, we repeat the process again on 255 and 102
255 =102 x 2+ 51

The algorithm is applied again but this time on the numbers 102 and 51
102=51x%x2+0

Thus, the HCF obtained is 51.

Question 12
The point Rdivides the line segment AB, where A(-4, 0)
and B(0, 6) such that AR = %AB. Find the coordinates

of R.



SOLUTION:

We have given that R divides the line segment AB
AR+ RB= AB

3AB+RB=AB
=RB =42

= AR:RB=3:1
Using section formula:

r = M Ta+MmaT [ muysi+mey,
- my+ma = m;+ma
my =3, m=1

A —4, Y1 = 0

o =0,y =6
Plugging values in the formula we get
G — 3x0+1x(—4) _ 3x6+1x0
- 3+1 ' d T T34
—4 18
T=—7Y=7%

:>:c=—1,y=%

Therefore, the coordinates of R (—1, %)
Question 13
Prove that:

(sin®+1+cosB)(sinB-1+cosB).secBcosech=2
OR

Prove that :

sec 0—1+\/sec 0+1 — 9 cosec 0

sec +1 sec 0—1

SOLUTION:
LHS = (sinf + 1 + cos ) (siné — 1 + cos ). secfcosect

- [sin2 6 — sinf + sinfcosh + sinf — 1 + cosf + sinfcosh — cosf + cos? 0] coc+0 $ ( sech = m%g and cosec = m—xlw')
=[1+2sinfcosf — 1] 1L

‘cos 0 sin 8
= [25sinfcos ], L

cos @ sinf
=2=RHS
Hence proved

OR



[secO—1 . fsec0+| _ JsecO -1 N JsecO +1
‘jscc0+l \secO—-1 JsecO+1 +fsecO-1

_ JsecO—1secO—1++JsecO+1\secH+1
Vsec O+ 1sec O -1
(VsecO—1) +(vseco+1)
\/(sec0—l)(sec0+l)

_sec@-1+secf+1
Vsec? -1
_ 2secl

Jtan: 0
_ 2secl
tan @
y 1
_ _cosd
siné
cos

gl
sin@
=2cosect
Question 14
In what ratio does the point P(—4, y) divide the line segment joining the points A(-6, 10)

and B(3, —-8) ? Hence find the value of y.
OR

Find the value of p for which the points (-5, 1), (1, p) and (4, —2) are collinear.



SOLUTION:

Let P divides the line segment AB in the ratio k: 1
Using section formula

+
o ey
A (-6, 10) and B(3, —8)
m; :my = k : 1

plugging values in the formula we get
7. kx3+1x(—6) _ kx(—8)+1x10
A= T Y= )
_4— 3k=6 _ —8k+10
k+1? k+1

Considering only x coordinate to find the value of k
—4k —-4=3k—6
—Tk=-2

k=2

k5 =220
Now, we have to find the value of y
s0, we will use section formula only in y coordinate to find the value of y
2x(—8)+7x10
= 247

_ —16+70
Y= —gq -



y==6
Therefore, P divides the line segment AB in 2 : 7 ratio
And value of yis 6.
OR

Points are collinear means the area of triangle formed by the collinear points is 0.
Using

area of triangle = % [z1 (Y2 — y3) + 22 (Y3 —v1) + 23 (Y1 — ¥2)]
=3[-5(—(-2)+1(-2-1)+4(1-p)]
=3[-5(@+2)+1(-3)+4(1-p)]

= % [—5p— 10—3+4—4p]

=3 [-5p— 9 —4p|

Area of triangle will be zero points being collinear
s[-5p—4p—91=0

3[-9p—9=0
9p+9=0

p=-1

Therefore, the value of p= —1.
Question 15

ABC is a right triangle in which 2B =90°. If AB =8 cm and BC =6 cm, find the
diameter of the circle inscribed in the triangle.

SOLUTION:
A
10
8
2
’ P
»
B 6 &

We have given that a circle is inscribed in a triangle
Using pythagoras theorem

(AC)? = (AB)? + (BC)®
(AC)* = (8)* + (6)°



(AC)® = 64 + 36

(AC)* =100

= AC=10

Areaof A ABC = area of A APB + area of /A BPC + area of A APC
2xbxh=3xb xhy+3 xbyxhy+ 3 xbsyxhg
IX6X8=2X8xT+2x6xr+2x10x7

24 =4r + 3r+ 57

24 =12r

="

. =0

2d =22

=d=4 cm

Question 16
In Figure 1, BL and CM are medians of a AABC right-angled at A. Prove that 4 (BL2 +

CM2) = 5 BC=.
C

OR

Prove that the sum of the squares of the sides of a rhombus is equal to the sum of the
squares of its diagonals.

SOLUTION:

To prove: 4 (BL2 + CM2) = 5BC?
Proof: In ACAB,

Applying Pythagoras theorem,

AB? + AC?=BC? = .. 1)
In AABL,

AL’ + AB? = BL?

s, (%9_)2 + AB? = BL?

= AC?+4AB?* =4BL> = ..... (2)



In ACAM,

CA? + MA? = CM?

= (B2)” 4 CA? =CM?

= BA? +4CA? =4CMZ2 ..... (3)

Adding (2) and (3)

AC? + 4AB? + BA? + 4CA? = 4BL? + 4CM?

= 5AC? + 5AB? = 4 (BL? + CM?)

= 5(AC? + AB?) = 4 (BL? + CM?)

= 5 (BC?) =4 (BL? + CM?) (From (1))
Hence Proved.

D C

In AAOB, ABOC, ACOD, AAQOD,

Applying Pythagoras theorem, we obtain

AB’ = AO” + OB’ (1)
BC® = BO® +0OC? e (2)
CD’ = CO* + 0D’ . (3)
AD® = AO® +OD? (@)

Adding all these equations, we obtain

AB? +BC2 +CD? + AD? = 2{AU= + OB +0C? +UD:)

= GEGEGEE)

( Diagonals bisect each other)

=q[[ﬂucf +(Bnr]

2 2

=(AC) +(BD)

OR



Question 17

In Figure 2, two concentric circles with centre O, have radii 21 cm and 42 cm. If ZAOB =
60°, find the area of the shaded region.

‘.
[0
AB

SOLUTION:

‘
-

Radius of inner circle, OC = 21 cm

Radius of outer circle, OA =42 cm

Area of circle with radius R= mR? = w(42)?
Area of circle with radius r= 7r2 = 7(21)?

0 R2 — 60 2 w(42)’
Area of sector AOB= z= X TR” = 35 X m(42)% = E
Area of sector COD= -0 x 712 = & x 7(21)* = fr(261)

Area of shaded portion = Area of circle with radius R — Area of circle with radius r — [Area of
sector AOB — Area of sector COD]



— n(42)? — x(21)? — [ _ 7r(21) ]
=X :(42)2 = (21) & % [(42) =) H

=r[((427 - @1)?) (1 - 3)]
— 7 [(42 — 21) (42 + 21) 2]

—272><§x21x63

— 3465 cm?

Question 18
Calculate the mode of the following distribution :

Class : 10-15 | 156-20 | 20-25 | 256-30 | 30-35
Frequency : 4 7 20 8 1

SOLUTION:
Modal class is the class with highest frequency
modal class is 20 - 25
lower limit of modal classi.e /=20
class sizei.e h=5
frequency of modal class f; = 20
frequency of preceding class fo = 7
frequency of succeeding class fo = 8
Using the formula

fi—fo
mode = [ + (%_fo_f?) x h
Plugging the values in the formula we get

mOde = 20+ (%) XD

mode = 20 + (%) x5
mode = 20-{-1—;’

mode = 122 =22.6

Question 19
A cone of height 24 cm and radius of base 6 cm is made up of modelling clay. A child
reshapes it in the form of a sphere. Find the radius of the sphere and hence find the
surface area of this sphere.

OR
A farmer connects a pipe of internal diameter 20 cm from a canal into a cylindrical tank



in his field which is 10 m in diameter and 2 m deep. If water flows through the pipe at
the rate of 3 km/hr, how much time will the tank be filled ?

SOLUTION:

A cone has been reshaped in sphere

Height of cone is 24 cm and radius of base is 6 cm
Volume of sphere = volume of cone

Volume of cone = —;717'211

Plugging the values in the formula we get

volume of cone = 27(6)?24

— 2887 cm?®
Let the radius of sphere be r

Volume of sphere = 3
Since, volume of cone = volume of sphere

Volume of sphere = 2887 cm?
So

9887 — A7r
288 — 43
= % =216

=7 =06 cm
Hence, radius of reshaped sphere is 6 cm

Now, surface area of sphere = 4772
= 47(6)*
— 144 x 2,;.2-

— 452.5 cm?
Therefore, surface area of sphere is 452.57 cm?.

OR

0.2 m

S0 m/min
waterflow

Consider an area of cross-section of pipe as shown in the figure.

20

—=0.1m
Radius (r,) of circular end of pipe = 200

_mxit=mx(0.1) =0.01x m®
Area of cross-section =



3000

=50 metre/min
Speed of water = 3 km/h = 60

0.01n

Volume of water that flows in 1 minute from pipe = 50 x =0.5Tm?

Volume of water that flows in t minutes from pipe =t x 0.5 m?

10m

10_,

Radius (r,) of circular end of cylindrical tank = 2 m
Depth (h,) of cylindrical tank =2 m
Let the tank be filled completely in t minutes.

Volume of water filled in tank in t minutes is equal to the volume of water flowed in t minutes from the
pipe.

Volume of water that flows in t minutes from pipe = Volume of water in tank
tx 0.5m = w x(r2)2 xhp

tx 0.5=5%x2

t=100

Therefore, the cylindrical tank will be filled in 100 minutes.



Question 20
Prove that 2 + 3\/§ is an irrational number when it is given that \/§ is an irrational number.

SOLUTION:

To prove: 2 + 34/3 is irrational, let us assume that 2 + 34/3 is rational.
2+3/3= 73 b # 0and aand bare integers.

=2b+3v3b=a
= 3v3b=a—2b

=v3=22
Since a and b are integers so, a — 2b will also be an integer.
So, “;—:b will be rational which means \/§ is also rational.

But we know /3 is irrational(given).
Thus, a contradiction has risen because of incorrect assumption.

Thus, 2 + 34/3 is irrational.

Question 21
Sum of the areas of two squares is 157 mz2. If the sum of their perimeters is 68 m, find
the sides of the two squares.

SOLUTION:

Let the side of one square be x
And side of other square be y
Sum of area of two square is 157
Equation becomes

g2 +y2=157 = ..... (1) (. area of square is side”)
Now, sum of their perimeters is 68

Equation becomes

4r + 4y =68 (. perimeter of square is 4 x side)

solving the two equation by substitution method

4 + 4y = 68
r+y=17
>E=1T—y = s (2)

Substitute (2) in (1)

(17 —y)> + 92 = 157

289 + y? — 34y + y% = 157
2y% — 34y 4+ 132 =0



y2 —17y+66 =0
Usingy = b ac '22 =

Plugging the values in the formula we get
17+,/289—4(66)

2

17++/25
= 2
y = 17;5
Y= 1_22a2_22
y==6,11

when y=6then x=11
Andwhen y=11then x=6
Therefore, the sides of squareare 6mand 11 m.

Question 22
Find the quadratic polynomial, sum and product of whose zeroes are -1 and -20
respectively. Also find the zeroes of the polynomial so obtained.

SOLUTION:

We have been given the sum of zeroes and product of zeroes
Let us consider the general polynomial

p(z) =az’? +bz+c

Sum of zeroes is _Tb

And product of zeroes is ﬁ

According to question

=t — _1and £ =—-20
a a

Assuming a=1

S, |
=b=1
Andec = —20

So, the polynomial so formed is p (z) = =% + = — 20

To find the zeroes of the polynomial equate polynomial to zero.
2 4+z—-20=0

22+ 52 —4x—-20=0

z(z+5)—4(x+5)=0

(z+5)(x—4)=0

== —5,4

Therefore, zeroes of the polynomial are -5 and 4.



Question 23

A plane left 30 minutes later than the scheduled time and in order to reach its
destination 1500 km away on time, it has to increase its speed by 250 km/hr from its
usual speed. Find the usual speed of the plane.

OR

Find the dimensions of a rectangular park whose perimeter is 60 m and area 200 mz2,

SOLUTION:

Let the usual speed of the plane be xkm/hr
And the new speed of the plane after increased by 250 is (a: - 250) km / hr
According to question

1500 1500 __ 30

z (z+4+250) ~ 60
_, 15002+1500x250-1500z _ 1
z(z+250) 2

= 1500 x 250 x 2 = z (z + 250)

= 750000 = 22 + 250z

= 2 4+ 1000z — 750z — 750000 = 0
= (z 4+ 1000) (z — 750) = 0

x = 750, —1000
Speed can not be negative so -1000 will be neglected
Therefore, usual speed of the plane is 750 km/hr.

OR
Let the length of rectangle be x
And breadth of rectangle be y
xy =200 (" area = length x breadth)
And 2 (z +y) = 60 [.- perimeter = 2(length + breadth)]

substitute y = 2% in 2(x+y) =60

Equation becomes:
2(z+22) =60

2 (:z:2+200) — 60

T

222 — 60x +400 =0
2 —30z+200=0



Using

—b++/b"—4ac
r = —-
2a

Plugging the values we get:
30:+,/(~30)?—4(1)(200)

T —

5
30410
=y g
_wo»

T==3:73

z = 20,10

when x =20 then y=10
And when x =10 then y = 20.

Question 24

Find the value of x, when in the A.P. given below
2+6+10+...+ x=1800.

SOLUTION:

We have been given an A.P

2+6+10+...+x=1800
a=2,d=6—-2=4,a, =z and s, = 1800
Firstly, we will find using

Sp =2 [2a+ (n—1)d]

1800 = % [2x 2+(n—1)4]

4n+4n®—4
1800 = Antin —dn

900 = n?

=n =130

Number of terms can not be negative
n=30

Now for value of xwhich is a,

a, =a+(n—1)d

r=2+116

=118
Therefore, value of xis 118.



Question 25

If sec 6+ tan 8= m, show that Z— = sin .
m=+1

SOLUTION:
m?—1
misl
(sec 8+tanf) s (sec2 f—tan® 0)

=
(sec f+tan 0) 1 (sec? O—tan® 0)

sec? f+tan® 0+2 sec 8 tan 0—sec? f+tan® 9
sec? f+tan® 0+2 sec 0 tan O+sec? §—tan®
2 tan f(tan f+sec 0)
2 sec @(tan O+sec )

tanf sin #
secl = cosBsech

sin #
1

cos Bx —
oos 8

L4 4 U

=sinf
Hence, proved

Question 26
In A ABC (Figure 3), AD L BC. Prove that
ACz = AB2 +BC2 - 2BC x BD

A
—
B D C
SOLUTION:

Applying Pythagoras theorem in AADB, we obtain
AD? + DB? = AB?

= AD?2=AB2-DB2 ... (1)
Applying Pythagoras theorem in AADC, we obtain

AD? + DC? = AC?

(- tang = 3

( cosf =

0

cos

o
sec @

)

)



AB? - BD? + DC? = AC? [Using equation (1)]
AB? - BD? + (BC - BD)? = AC?

AC? = AB2 - BD? + BC? + BD? -2BC x BD
AC?=AB? + BC? - 2BC x BD

Question 27

A moving boat is observed from the top of a 150 m high cliff moving away from the cliff.
The angle of depression of the boat changes from 60° to 45° in 2 minutes. Find the
speed of the boat in m/min.

OR
There are two poles, one each on either bank of a river just opposite to each other. One
pole is 60 m high. From the top of this pole, the angle of depression of the top and foot

of the other pole are 30° and 60° respectively. Find the width of the river and height of
the other pole.

SOLUTION:

150 m

.
O B C

Let AO be the cliff of height 150 m.

Let the speed of boat be x metres per minute.

And BC be the distance which man travelled.

So, BC =2z [.- Distance = Speed x Time]
°) — A0

tan (6015()3 = OB

V3= o8

= OB =2% _ 503
sy _ AO

tan (45°) = &g

_ 150
:>1_OC




=.0C= 150
Now OC =0B + BC

= 150 = 50/3 + 2z

150—50,/3

=z ="T5—25V3
Using /3 =1.73

z="T5—25x1.732 = 32 m/ min
Hence, the speed of the boat is 32 metres per minute.

OR

60 m

_ 60"
B W C

Let the width of the river be w.
In AABC,

tan60° = AB



= AE =20
Height of pole CD = AB — AE

=60—-20=40m
Thus, width of river is 204/3 =20 x 1.732 =34.64 m
Height of pole =40 m

Question 28
Construct a triangle with sides 5 cm, 6 cm and 7 cm and then another triangle whose

sides are % of the corresponding sides of the first triangle.

SOLUTION:

1. Draw a line AB =5 cm and draw a ray from A and taking A as centre cut
an arc at C of 6 cm and taking B as centre cut an arc of 7cm at C
2. Draw AX such that BAX is an acute angle.

3. Cut 5 equal arcs AA;, AA;, A A, AA. and A.As.
4. Join As to B and draw a line through A: parallel to AsB which meets AB at
B'.

=3

Here, AB' = - AB

5. Now draw a line through B' parallel to BC which joins AC at C',
Here, B'C' =2BC and AC'== AC

Thus, AB'C' is the required triangle.

Question 29



Calculate the mean of the following frequency distribution:

Class:

10-30

30-50

50-70

70-90

90-110

110-130

Frequency:

5

8

12

20

3

2

OR

The following table gives production yield in kg per hectare of wheat of 100 farms of a
village:

Production yield 40-45 | 45-50 | 50-55 | 55-60 | 60-65 | 65-70
(kg/hectare):
Number of farms 4 6 16 20 30 24

Change the distribution to a 'more than type' distribution, and draw its ogive.

SOLUTION:
Class frequency (f;) Class mark (z;) fix;
10-30 5 “’;30 =20 100
30-50 8 30;50 — 40 320
50-70 12 50;7" — 60 720
70-90 20 70;90 — 80 1600
90-110 3 X2 =100 300
110-130 2 “03130 =120 240
> fi=50 S fix; = 3280
2y Z f!zl
Using: mean =
) > T
substituting the values in the formula
3280 __
mean— TEp 65 6
OR
Production yield Cumulative frequency
more than 40 100
more than 45 96
more than 50 90
more than 55 74
more than 60 54
more than 65 24




+
\
10

Question 30

A container opened at the top and made up of a metal sheet, is in the form of a frustum
of a cone of height 16 cm with radii of its lower and upper ends as 8 cm and 20 cm
respectively. Find the cost of milk which can completely fill the container, at the rate of
50 per litre. Also find the cost of metal sheet used to make the container, if it costs % 10
per 100 cmz. (Take 1 = 3-14)

SOLUTION:

We have to find the cost of milk which can completely fill the container
Volume of container = Volume of frustum

= %ﬂ‘h (7‘12 + 1’22 -+ T11‘2)
Here,

height = 16 cm

radius of upper end = 20 cm

And radius of lower end =8 cm
Plugging the values in the formula we get



Volume of container = 1 x 3.14 x 16 ((20)2 +(8)% +20 x 8)

= 3 x 50.24 (400 + 64 + 160)

= 3 x 50.24 (624)

= 10449.92 cm®
= 10.449 litre (- 1litre = 1000 cm®)

Cost of 1 litre milk is Rs 50

Cost of 10.449 litre milk = 50 x 10.449 = Rs 522.45

We will find the cost of metal sheet to make the container

Firstly, we will find the area of container

Area of container = Curved surface area of the frustum + area of bottom
circle (~ container is closed from bottom)

Area of container = 7 (1 + 72)l + 7r?
Now, we will find /

l= \/hz“l”(rl—rz)z
1= 1/(16)* + (20 - 8)*
1= 1/(16) + (12)°

[l = /256 4+ 144
[ = /400
=20 cm

Area of frustum = 3.14 x 20 (20 + 8)
= 1758.4 cm?

Area of bottom circle = 3.14 x 82 = 200.96 cm?
Area of container = 1758.4 + 200. 96

= 1959.36 cm?

Cost of making 100 cm? = Rs 10

i y RN | po 1
Costof making 1 cm® = 75 = Rs 55

Cost of making 1959. 36 cm?® = < x 1959.36 = 195.936

Hence, cost of milk is Rs 522.45
And cost of metal sheet is Rs 195.936



